
Vendor: EMC 

Exam Code: E20-002 

Exam Name: Cloud Infrastructure and Services Exam 

Version: DEMO 



QUESTION 1 
Which method is used to create a linked clone of a virtual machine (VM)? 
 

A. Using a snapshot of the source VM 

B. Using a template of the source VM 

C. Sharing the network identity with the source VM 

D. Making a separate copy of the source VM virtual disk 

 
Answer: A 
 
 
QUESTION 2 
Which tool can be used for live migration of virtual machine disk files between two EMC CLARiiON 
arrays? 
 

A. VMware Storage vMotion 

B. VMware HA 

C. VMware vMotion 

D. VMware FT 

 
Answer: A 
 
 
QUESTION 3 
Which functionality is provided by a Virtual Machine File System when virtual machines are running 
on clustered servers? 
 

A. Pool of running virtual machines to be shared among hypervisors 

B. Pool of virtual disks to be shared among running virtual machines 

C. Automated locking of virtual machine files 

D. Virtual machine namespace resolution 

 
Answer: C 
 
 
QUESTION 4 
Which virtual machine technique provides zero downtime in case of a virtual machine failure? 
 

A. Fault tolerance 

B. Clone 

C. Snapshot 

D. Backup 

 
Answer: A 
 
 
QUESTION 5 
Which Cloud service model allows the user to run any operating system and application? 
 

A. Platform-as-a-Service 

B. Infrastructure-as-a-Service 

C. Software-as-a-Service 

D. IT-as-a-Service 



 
Answer: B 
 
 
QUESTION 6 
Which Cloud service model is most appropriate for application development? 
 

A. Infrastructure-as-a-Service 

B. Platform-as-a-Service 

C. Software-as-a-Service 

D. IT-as-a-Service 

 
Answer: B 
 
 
QUESTION 7 
An organization runs a proprietary operating system for its custom applications. System 
performance has been declining at an increasing rate. They would like to leverage a Cloud solution 
to address their problem. 
Which Cloud service model would be appropriate for them? 
 

A. Infrastructure-as-a-Service 

B. Platform-as-a-Service 

C. Software-as-a-Service 

D. IT-as-a-Service 

 
Answer: A 
 
 
QUESTION 8 
Which problem is addressed by RAID technologies? 
 

A. Data corruption 

B. Data backup 

C. Data loss 

D. Data security 

 
Answer: C 
 
 
QUESTION 9 
Which is a benefit of server clustering? 
 

A. High CPU utilization 

B. High availability 

C. High memory utilization 

D. High security 

 
Answer: B 
 
 
QUESTION 10 
Which RAID type uses parity to protect against data loss? 



 

A. RAID 3 

B. RAID 0 

C. RAID 1 

D. Nested 

 
Answer: A 
 
 


